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BC-2875 
B. C. A. (Third Semester) 
EXAMINATION, 2020 

ELEMENTS OF STATISTICS 
,Time: 7hree Hours 
Maximum Marks: 75 

Note: Attempt questions from both Sections as 

directed. 

Section-A 

(Short Answer Type Questions) 

Note: Attempt any ten questions. Each question 

carries 3 marks. 10x3-30 

uDefine Permutation 

2Befine population with an example. 

3What do you understand by a frequency 

distribution?-0:
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(a) Calculate how many three-digit numbers 

BC-2875 

can'be framed from the number 3754, O 

(6) Three coins are thrown together. Find the 

probability that the result give at least two 

heads. 

Two dice are thrown together. Then obtain the 

probability that the sum of the numbers 

occurred on both the dices is either 9 or 11. S 

RExplain in brief about appropriate chart for 

3 'number for defcclives'with control limits. 
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